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e, e, S
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26. Select the correct order of mending the

puncture in a cycle tube :

1. Wait for material to dry.

2. Remove tyre and tube and dip in water to
checl.

3. Fix the tyre and tube.

4. Mark the spot and apply puncture
mending material.

1,3,2,4 (b) 4,3,2,1
2,413 ~ (@ 23,1,4

(a)
(c)

Fill in the blankg'lth the correct option.
We

(a) Adept
(c) Adapt

Read the following passage carefully and answer
questions number 28 to 32 based on the passage.

27.

oqr§plves to the circumstances.
™ (b) Adopt
(d) None of the above

Leadership studies is an emerging discipline, and
the concept of leadership will continue to change.
Leadership lore is deﬁned as an influence among
leaders and followerwho want real change and
outcomes that reflect=their purpose shared by the

leaders and their_ fol ers. Tnﬂuence means s that
the relatlonsth a.mpng people is not passive;
however, also part of fHik definition is that influence
is multidirectional. It does not use orders or threats
to make somebody do somethmg Leadership is
something a leader does to a follower. However,
leadership has an effect in both directions. In most
organizations, superiors influence subordinates, but
subordinates influence superiors as well. The people
involved in the relatlonshlp want real and
important changes —T,leadershlp involves creating
change _not maintainifig what normally happens. In
addition, the changeg:]dsought are not dictated by
leadefs, but reflect the"durpose thatmotivates them
toward this more prefr rable outcome An important
aspect of 1eaTrshp is 1nﬂuencmg others to come
together around a common vision. Thus, leadership
involves the influence of people to brmg about
change towards a desirable future.

28.

29.

30.

31.

32.

(c) Leadership

@

el A B AN W

DST.F-2,

What should be the outcome of leadersh,
actions ?

(a) Movement towards the vision of th
leader.

(b) Movement and strengthening of
authority of leaders.

(c) Movement towards common vision of th
leader and the followers.

(d) Movement towards the vision of th

majority.

Find the synonym for the word ‘traditions’ i
the above passage.

(b) Relationship
(d) Lore

(a) Organization

What is the main theme of this passage ?
(a)
(b)
(e)

Explanation of leadership construct
Politics of a country
Discussion about followers

Future of a country

The concept of leadership discussed in thi

passage is :
(a)
(b)
(c)
(d)

Exceptional
Vertical/Top-down -
Horizontal |
Individualistic

“Leadership studies is an emerging discipline

———

means :
(a) Leadership studies is an established field
(b)

Leadership studies is an evolving domair

of scholarship.

(¢) Leadership studies is a valid field of
research.

(d) Leadership studies is an elaborate field.
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g
Eﬁ Find out the synonym for the italicised word

33 given in the following sentence.
He was filled with remorse for the action,
(a) revulsion (b) despair

repentance (d) regret

(c)

s ‘Which of the following is the correct passive

form of the following ?
“Who has cut the tree ?”

By whom has the tree been cut ?

()
(b)
(c)
(d)

By whom was the tree cut by ?
Who has the tree been cut ?

By whom was the tree cut ?

35, Change into direct form :
I said to him, “How do you know this ?” ,
(a) Iasked him that how he knew that.
(b) I asked him how he knew that.
(¢) Iasked him how I knew that.
(d) Itold him how I knew that.

meaning of the idiom given below :

‘To end in smoke’.

(a) To have no result; to come to nothing
(b) To find out the result in the end

(c) To come to an end

(d) To find out the smoke

own horn’ ?

(a) To be the devil’s advocate
(b) To announce self defeat
(¢) To boast about oneself

(d) To suddenly become very angry

Choose the correct option to find out the

What is the meaning of the idiom, ‘Blow one’s

38.

39.

40.

41.

42,

43.

44,

45.

' DST.F-2-24
Choose the correct antonym of the following
word.

Slooray
Cheerful

Boring

Straight

None of the above

(a)
(b)
(c)
(d)

Select the word Whi&[\QS opposite in meaning

of the following : e
Indiscreet (@Y

(a) Honest p@) Stupid

(¢) Reliable (td) Prudent

The art of beautiful handwriting is known as
(a) Designing (b) Orthography

(c) Calligraphy (d) Stenography
Choose the correct alternative which replaces
the given statement/sentence :

“Anything -written in a letter after it is

signed”.
L%) Postdiction
Postscript rd) Corrigendum

(a) Manuscript
Which among the fol@gﬁm__ecﬂyspelt

(c)

word ? <t
(a) Obliterate ((%) Obleturate
(¢) Obleterate (d) Obliterait

Fill in the blanks with the correct options.

“ ___ heworked, he failed.”
(a) Hardly; when
(b) Other; than
(¢) No sooner; than
(& Though; yet
ill i with the correct option.
o ﬂ:;:l:t{]:;e bo}"&was in the playground.
<) Either

(a) Neither

All
(¢) Every @7’

tepie:
Find the correct sen ﬁ
(a) Heis rich enoug to starve.

(b) He is too rich and he starve.
(¢) Heistoo rich to starve.
(d) Heistoo rich not to starve.

................................
.......
-----

“en
.....

------------
..............
------------------------------------
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%

46.

47.

48.

49.

50.

51.

52.

13 is related to 2190 in the same way as 14 is
related to :
(a) 2737 (b) 2739
(c) 2736 (d) 2738
In a circle, if radius is doubled, what happens
to the area ?
(a) It triples
(b) It remains the same
(¢) It doubles LM
(d) It quadruples g
The values of x and y in@le following diagram
are : o
™M
(a) x=18,y=17 (b) x=16,y=9
(¢) x=T7,y=18 (d x=9,y=16
The value of which of the following will
not change if a constant pymber is added to all
the scores of a series 7 ™~
(a) Median x
(b) Standard deviation <}
(c) Mean N
(d) Mode ™

If the side lengths of a square are doubled,
then how much area will be increased ?
(a) (b) 5 times

(c) (d) 4 times

#196 is distributed in 300 children. If girls
d boys 50 paLirg.)a, then what is the

3 times
2 times

gain T1 an

number of boys ? [~

(a) 210 (byd 214
(© 208 (afgiz12

X — 4 and 2x — 1 are faglors of which of the
following polynomials ?

(@) 2x3_7x2, 5x 4

(b) 2x3 _ 752 _ Ex + 4

(c) 2x3+7x2+5x+4

P

Qo L 2
He o g
. %ﬁﬂ)
DST.F-2-
46. g ¥R 13 Heifea 3 9190 @, 36T JFR 14 Feife
3 Fl
(a) 2737 (b) 2739
(c) 2736 d) 2738
47. @ﬁﬁ,uﬁﬁwwmﬁm,ﬁmf
T TE TS B ?
(a) T < T & ST E
(b) FEAMATEAR 7
() TE TS IE
(@ & A € ST 8
48, Frefefas st x ol y FAFE:
(a) x=18,y=7 (b) x=16,y=9
() x=T7,y=18 d x=9,y=16
49. ﬁ%m%mﬁﬁ@mm@gé
m,ﬁ.ﬁm%@ﬁﬁﬂ%e%mﬁqﬁaﬁ?:ﬁ
q 2
(a) TS (HEAIh)
(b) Wk fa=ed
() TR (TEAT)
‘) «gaH
50. T Faret ot o aped gt R A S, A EEw
fora e ST 2
(a) VAT (b) W=
(¢ WA ) =TT
51. f1gsaﬁaooaﬁﬁr‘ia1°arrm|aﬁas%éﬁﬁf1
aﬁtagaﬁﬁso&@rfﬁé,?ﬁasﬁﬁﬁww%?
(a) 210 (b) 214
() 208 d 212
52. ﬁmﬁiﬁaﬁragqﬁﬁﬁ%a%nm@vgx—uﬁ

2x3—7x2—5x+4

2x3+7x2+5x+4

....................................
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' (8) 3X(K2+3y2)

5

B6-

56.

57

58.

59.

The factor of expression (x 4+ 3+ (x— )3 is -

(b) 2x (XZ + 3Y2)
(d) 2x(x2_ 3y-2)

53.
(© 3x x2 - 3)’2)

The work capacity of A is three times more
than that of B. Both of ther together can
complete a work in 15 days. In how m

54.

any days

will A alone complete that work ?

The cost price of 40 oranges is equal to the |55

selling price of 30

oranges. Find the
percentage profit.
(a) 25% (b) 22%
() 20% (d) 33-33%

) 56.
A man covers half of his journey at a speed of

6 km/hr and the remaining half at a speed of

3 km/hr. His average speed is :
(a) 3 km/hr (b) 9 km/hr
(¢) 45 km/hr (d) 4 km/hr

A number when divided by 53 gives 84 as
quotient and 21 as remainder. Then the

number is :
(a) 1800 (b) 1924
(c) 1823 (d) 1723

The number of subsets of A = {0, 1, 2} will be :
(a) 7 (b) 8
(c) 6 d) 9

If the difference between compound interest
and simple interest on a sum of money in
2 years at 10% annual interest rate is ¥ 12,

then find the amount.
(a) %1200

(¢) %240

(b) ¥ 2400
(d) T 1000

Surya sells 45 pens and suffers a loss equal to

the selling price of five pens. What is his total o0

loss percentage ?

@) 11-11% (b) 10%

(© 9% (d) 12:5%
------------------------------------------------ A 7 A

57.

~(e) 1823

58.

59.

. DST.F-2.24
SASE (x + ¥)° + (x - y)® TR

(a) 3x(x?+ 3y?) (b) 2x (x2 + 3y2)

(© 8x(x2-3y?)  (d) 2x(x2-3y2

A W R 3 it @war B W i T i R Ao
Torerert weh i 1 15 1o B QU TR B 1 A 3Rt

36 = o foha fedi 8 quarem 2 473 p,
(a) 1875 iy (B 20
(c) 18- M~ (@ 21

...,..

40ﬁaﬁwm{§f(cp)3oﬁaﬁ%%mq§q
(SP) o SR & | S-SifereTa 91 hifra |

(@) 25% b 22%

(e) 20% (d) 33-33%

T e} Aot ot e 6 fRfi/ser i are &
¥t 2 reft 4 3 fopefl/cher bt a1t & o e )
It ST ®

(a) 3 femfi/eier (b) 9%cﬁ/dzr

(©) 4-5%rﬁfsiarl{2 (@) 4 fpfi/ser

@mﬁssﬁgﬁﬁaﬁmwuw
ﬁﬂw21mﬁm§i§€ra€m%:
(a) 1800 &) (b) 1924
(d) 1723

A =10, 1, 2) % STET=aE! i T At :
(@ 7 by 8

(c) 6 (4) 9

AT 109 a1t sarer Hr X 2 a9 § forelt v &
e SATS ST JITHOr saT & S{ T 12 8, A T
ety 1@ R 1y

(a) T 1200 2}1 (b) T 2400

% 240 (N (@ <1000
(c) o _

at 45 Fem T 5w ¥ Ree gew % S
a1y SaTaT R | 3 e et sferera wifrgd 2

(a) 11-11% (b) 10%

@) 12:5%
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DST.F-2-2

¢ ; 3 2n 2 4°
integers n satisfying|g1, nq-uﬁzﬁ’faﬁrg@”r?ﬁ—n+220

[

&

umber of 1 )
61. E‘];le+2n20and gn=>41s: W'Eﬁﬁ‘ﬁ%,%
(b) 4 5 (b 4
(a) 1 (a) 1
© 0 -2 © 0 (@ 2
62. S-digit largest prime number is : co. & ﬁﬁﬁuﬂﬁaﬁ apTsd GEAT 2
(e 999 (d) 997 (c) 999 (d) 997
63. Let A= la’ b’ c 6 ﬂ-g‘. B = [b, c, d, f, g, h} 63. ‘q’ﬂ'{?ﬁ'ﬁfﬁﬁA: {a, b, c, © f) g]’ g
and C = {c, d, & '\: h, i}. The value of B=(becdf8 pyaar C = lc, d, & B h, i)
((A—B)—(A—C)—(C(-\P:)) is: ((A_B)—_(A—C)—(C—B))mm% .
(@ (b) ;fgg b @ (bl b ¢
(c) flal (d) {c} ) la) (d) f{cl
64. T %mzﬁmqﬁwmﬁﬁa"f?

64.7 Who first calculated the value of T ?

(a) Archimedes (a)
(b) Thales (/bf D)
(c) Pythagoras () TTEHIRH
 (d) Aryabhatta . @ STEVE
65. By dividing x° — 6x” + 2x —4 by =3 L +1 the|gs. x°-6x*+2x—4 &, — x + 1 ¥ A A
remainder is : . ATFAR
136
@ == ) —136
136 =
— 136
© S ‘%)
66. The value of x in the given figure is : 66.
T ¥ o ol
(© 130° @5 110° (c
67. If the median of the f5llowing data is 11, then 67. e Frefeiad st 1 AEAE 11 BLAKE
! find the value of K: ' ' T I :
‘(‘l% ’ 3,21,10,7,6,9, (K + 6), 15, 20 3,21,10,7,6,9, (K + 6), 15,20
"8 @ 1 ® 5 (@ 7 b 5
-------- e . UL © 4 d 6
----------- A 8 A
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i DST.F-2-24
CoNSTABLE is coded as 91, what will b ]
f :;e code number for STABLE ? ¢ 68 gﬁggﬁglﬁgﬁg 91 * g%-:n@‘?%a T ST
78 (b) 176 ’ qE& ]
(@) ( ‘

 BELONGINGS is coded as TABLESTESF, | 69.

Ik BELON .
# ow will you code LINEN ? GINGS %! TABLESTESF & &9 &

FIfEd o ST R, Y LINEN 1 s w2 2

© BTEAE (d) BATEA ' (c) BTEAE (d) BATEA
LN

. Which one is different from the other three ? |70 ﬁq%ﬁaafg? w2 2

" (@) Table (b) Window (a) ¥ (o by Raehr
(c) Door (d) Gate (c) ,‘\ \l (d) $IeH

48]

) As ‘poster’ if related to ‘wall’, in the same way | 71. S U AR ¥ st 2, 3 & s,
‘photograph’ is related to : e weftm 2 2
(a) Beauty (a) =T (Beauty)

(b) Frame (b) ¥ (Frame)
() Camera (c). FET (Camera)
(d People (d) < (People)

s When two people get together, the onel72. &2 Eqﬁ(l‘%rm ¥ B %, qe 370 U S 3 99T &
who appears more relaxed in body language e 7 ;ﬂﬁ@ g g wiq fEar @ =
—_— | dargl O
(a) is higher in power hierarchy (a) 4 wTE T
G umsaior in o t ) T

to hi io- ic status
E;)) Aelzl ox;g;l 0 bg er socio-economic s P ; S—
of the above d) i -y

3 — is influenced by inter-personal - S SRS S W

) G.t - (a) W= (W) ST E

a sture

es urela and po & B

(b) Education ; s Bt

(c) Speech style g M~

(d) Problem solving @ NH &

: ile |74. 200 ¥ 90 ST 9 ES H § Sk

. Among 200 persons, 90 peogle 11k;3 tﬁ;e“g:tlﬁ L08 ST bt ez ey SR 46 T = i

1 i d 46 people . .

u?: fﬁﬁ"lﬁ&;‘f ﬁ“ffflfly pefple like neither FE A T FE E | R A W@ E A A =™

tea nor coffee ? e T § 3T E IR = A E 2

(a) 44 (b) 46 (a) 44 (b) 46

() 48 (d) 62 (c) 48 (d) 62

............................
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75.

76.

77.

78.

79.

80.

81.

82.

233 235
s b) ——
@ 590 ® 000
235 237
2= d) ==
© S50 @ 390
Ogive curves for ‘more than’ type and ‘less

than’ type distribution intersect at :
(a) median (b) origin
(c) mean (d) pmode
If the points (1, x), (8,~2) and (9, 5) are
collinear, the value of x is
5

@ -2 ®)<h
2 ™~
© 2 @ L1

2

2 cubes, each of volume 27 cm?, are joined end
to end, then the surface area of the resulting

cuboid is :

(a) 81cm? (b) 32cm?

(¢) 90 cm? (d) 54 cm?

How many triangles are there in the following
figure ?

75.

76.

7.

78l

DST.F-2-24
0235 =7

233 235
&) 990 ®) 500

235 237
TFT Y F9° 3R yER § e o & foa
mm@.@mmm%;
(a) WIRARIT (b) HA-feg W

(c) 3HrEq (U)W (d) FTgeh |
af frg (1, ), (65, 23/ (9, 5) W@ T, @ x =
qF®: '
(a) -

© 2 (@

2
97 A ST AT 2 BT Y T R g R T
SreT AT &, A TRoTH ST shT TE & 8 :

(b) 1

o | en

-1

(a) 81w (b) 3232
(c) 90 aHi? (d) 54 >
Prferfaa smmepfa o foraa B € 2
.'
"/!‘
Z
¢ [ ¢
(a) 10 ®) 11
() 8 dT 12
foft 4, 18, 48,2, 180 A G TEATR
(a) 80 (b) 100
(c) 60 (d) 90
2
Irf%:x+l=2é,a’r _ 2T +2  mamem:
. 3x2 +4x + 3
1 1
(a) 5 (b) 2§
2 4
() = d —
Y B @ 7

HCF (306, 657) = 9 fear 2|
LCM (306, 657) J1a Shifsma |
(a) 21331 (b) 33228

LN
M~ 79.
{j-'-
o~
d—
o
&9
(a) 10 (b) 11
(c) 8 (d 12
The missing number in the series is :
4,18,48, 7,180 80
(a) 80 (b) 100 :
(¢) 60 (d) 90
2
Ifx+—1—=2, then the valye of —g—xi
. X f\ 3x“ +4x+3 81.
(a) 3 (b),d.2 3
2 . 4
= dynz
© < @
Given HCF (306, 657) = 9. 82.
Find the LCM (306, 657).
(a) 21331 (b) 33228
(c) 22338 (d) 22318
A 10 A
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DST.F-2-24
an nature to know why we/others |83, gn/aet o it w Riftre Tt & e F0 3,
| .. pum . Th . _BA/EL dn ‘ d
38 _ in a specific way. le process o TR ST O ; T it 5
. behii"_ ing our own and others’ behaviour is X Eﬁ 3 3' I $
e*P r !
- ocial behaviour (a) QTR gue =aen
) Prost® - (b) TPTRIT
Ef)) Atribution (c) .~ Tfeaare
truism
(© gliscrimination (@) forrdeo -
@ f people to like each other is|g4, ST Y Ueh-gHY ! 988 e <l 9gfa 2
ndency 0 m _
4 - (a) TEWE [
(a)/Pf;—}:dice () et
o) Attractiveness &
© Reciprocity of liking @
@ Diserimneton | 85. Tl 3¢ i afele e ech s s s #
Which decision-making blas_ refers to the o = 3,
] cy to give excessive weight to the first AR A ! CHEREIG]
tendency ved ? (a) Wt@m
information received : q
(¢) Confirmation bias (b) werfe EhE_
(b) Hindsight bi'zls ©) M
(¢) Anchoringbias (d) SYcTeHT HTAT
(d) Availability heuristic . =) S —
the four basic' communication - 3 N
= L ()
5 ! ] . . . |
1. Understanding 2. Igstenpg 2 10 . iy
3. Informing 4. Rpeakndinl - NaEiIGSN:dailill . el
5. Observing 5 V\?E}ﬁng %&ﬁgmmﬁaﬁmmwaﬁﬁq:
7. Influencing v?c.ar &0; thg codes given B 4 6"8\»-) b) 7.2,5,6
Se{ect the correct ans L 3, 5’ 6,8 e, 2
elow : 5,2, .
@ 2,4,6,8 et i g7, Frefefad § & fre s i wifa A @l =
(C) 3,527 (d) 11317’8 ‘ ?ﬁq_ﬁ?ﬁﬁ%‘?
bl ’ 7 ) the
M. Which of the following type of memory has (@) AT R
shortest duration ? (b) Wgﬁ
(a) Immediate memory © wﬁrﬁgﬁ
(b) Iconic memory iy
(d) et €
() Working memory LA - & EUEY
(d) Echoic memory 88. W%W(ag_al) ThI ——
8. Functional fixedness isakindof _ ——— (a) 9 q“ai?.%
(a) Confirmation bias (:; mﬁqm@:ﬂm Sl
(b) Mental set (¢
(c) Forward working ) w@%ﬁ?ﬂ_ﬂ -
(d) Creativity bias e wont e T mmwwa@\ A aqag]'(%
89, —____ is/are used by human belf(;? thers ag ﬁuﬁlﬁm%m Wﬁ%ﬁ'&'ﬁﬁ |
of the time to control the behaviour —(b) =
as well as of themselves. . . (a) T4 T(I)J ‘fl T
(@) Words (b) Punishmen () TR >
..... () Rewards (d) Postures
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90.

91.

92.

93.

What are the examples of interpersonal
communication ? -

Seminar

Journalism

Office operation

Letter writing 5
Study—Teaching

Conversation

I

LN
7. Interview ™

Select the correct answer fi'oin the codes given
below : '

(a) 6,7,5,3
) 2,4,7,6

(b) :-‘?;%3, 517

(d) 4,5,2 1

Which of the following is an example of
mediated communication ?

(a) A newscaster delivers the weather report
on 9 o’clock news ’

(b) A politician addresses a nominating
convention

(c) Two friends gossip Wii]%_)one another

(d) Students work on a class project together

The role of a leader is défihed by the three

circles of need : g |

1. Task A8 -

2. Function

3. New ideas

4. Team

5. Process

6. Communication

7. Individual

Select the correct answer from the codes given
below :

LN
(a) 2,4,1 (b) [3;1,6
() 7,5,3 (d) §£4,7

If in a non-leap year, ;E is Tuesday on
28" February, then whdtyday will be on
28" March of that year ?

(a) Monday (b) Tuesday

(¢c) Sunday (d) None of the above

90.

91.

92,

93.

DST.F-2-24

i A SR AT AR
1wt

2. gEHIl

3. i HEET

4, THAGA

5. EREA — AT

6. @i

7. WIETHR
ﬁmm@éaﬁmmwﬁm:
(a) 6,7,5,3 ® 2,357
© 24,76 @ 4,521

rforfiae i & -8 FEIEICT S T IETE R 2
() Forelt WS SRR 00 9 S Y @ W
o &1 fgiE & '

3y ot ot S T9E 7 T

ST T et e Msiee 9T e 9T S T

(b)
(c)
(d)

T Jar i e ATavEsEar & dF R R
gfefa hr st @
wd

nifafafer
g fa=m
g

o

wfsrar
IOy
. =t
= e e e & Wt gut == fifvr

(a) 2,4,1 (b) 3,1,6
(© 7,5,3 (d 1,4,7

S| e @ kAR

afe <t ofte f 72 R, 39 99 28 wEd FY GIeER
TSI 8, T 28 AT ol 39 a9 - R w2 2

(a) WHAR (b) WIEER
(d) ITYH & q IS 7l
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V.

e

e

b <7
‘-._
~e

2
4

f interpersonal icati DST.F-2:24
Another name of 1nterp al communication | g4, %Waﬂmm 3.
=T R :
i8 * Face-to-face public communication (a)  Sm-gT Hﬁmmﬂ(/
(8) virtual reality (b) AT STty
® Mass communication () SHER
(s) piadic communication (d) smfes (ﬁ?ﬂ?ﬁ:) T
.h one to}f; ;13)9, following pairs is not|95. ﬁwl%ﬁaagrq‘iﬁ%aﬂmmgmaﬁg&%mﬁ% ?
oﬂectly matched ¢ \. "f _ - ) '
((:a) Thorndike — Stimulus-response bond @ ' 3 S X
theory ®) B — B s frgia
() Skinner - ?h;;il;;nt conditioning (c) PIEEH - @éﬁz@mwﬁaﬁr o
T
(c) Kohler = Insight theory (d) 9Taeig o~ qgﬁamma(flelvzﬁam
@ Pavlov  — Gestalt theory 96. ?ﬁ%@a t}‘{? FH-H Tk = Fiofr Y s
.. ?
which of the following is a characteristic of a ) 0 .
good decision ? | (@) TB A WA g
(a) Itis based on intuition (b) TR ferameant o et Y s (JU&IT) AT B
(b) It ignores stakeholders’ interest (c) T& g R AT}
(c) Itis feasible and achievable (d) 9§ o formrsar ®
(d) Itis made quickly 97. HERII-YHTY <hl SFRAT 8T o &1 o U o
The process of problem solving where the SWEAR :
problem has only one single answer is (a) o19Er e
(a) Divergent thinking (b) I
(b) Trial and error (©) N
(c) Insight @ _ )
(d) Convergent thinking -
Find the missing number in the following 98. %Fﬁ AR W ffafed s § EETEOI q
arrangement based on some principle : TG i 91 gilﬁlq :
10| 7 | 4 B T LA
3 @ 9 3 ?
15 18 21 16 18 | 21
Select the correct answer from the code given ﬁﬁqw?ﬁmwmw AIfT
below: — —————— (a) 5 (b) 8
@ 5 (b) 8 (c) 4 (d) 6
© 4 (d 6 99. 7,11,19, 86 67 i stmen # ovwm we
What will be the next item in the series (§E) w@r ?
7,11, 19, 85,67 ? (a) 121 N (b) 133
() 121 (b) 133 © 99 g @ 131
© 99 (d) 131 100. FERCETT B TEH D THT W RS
L e allowg several people to use softwkare I FE D ;ngﬁ{ 21 ® 9if TS T
trazteofsamfa time to create documents,. eep R wfeet 1 Y w@ |
Projects. 3 b 3 i
(a.) Groupware (b) Network (a) S (b
Y Software (@ E-mail (0 Wi @) 37

.......................
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